

اختر الإجابة الصحيحة من بين الإجابات المعطاة

$$\dots\dots\dots = \sqrt{3} + \sqrt{2} \quad (١)$$

٥٦٦ (د)

٣٦٦ (ج)

٣٦٥ (ب)

٦٦٥ (أ)

$$\dots\dots\dots = \sqrt{5} + \sqrt{5} \quad (٢)$$

٢٦٥ (د)

٥٦٢ (ج)

١٠٦ (ب)

٥ (أ)

$$\dots\dots\dots = \frac{4}{\sqrt{2}} \quad (٣)$$

٢ (د)

٢٦٨ (ج)

٢٦٢ (ب)

٢٦٤ (أ)

$$\dots\dots\dots = \sqrt{5} \times \sqrt{10} \quad (٤)$$

٦٠ (د)

١٥٠ (ج)

٦٦٠ (ب)

٣٦٢ (أ)

$$\dots\dots\dots = \frac{7}{\sqrt{2}} \quad (٥)$$

٦ (د)

٦٦٦ (ج)

١ (ب)

٦٦ (أ)

(٦) المعكوس الضربي للعدد $\frac{1}{\sqrt{3}}$ هو العدد

$\frac{1}{3}$ (د)

$\frac{1}{\sqrt{3}}$ (جـ)

$\sqrt{3}$ (ب)

$\sqrt{3} -$ (أ)

(٧) الصفر - ١ ، ١]

$\emptyset$ (د)

$\supset$ (جـ)

$\ni$ (ب)

$\exists$ (أ)

$$\dots\dots\dots = \sqrt{5} \times \sqrt{10} \quad (٨)$$

٦٠ (د)

١٥٠ (ج)

٦٦٠ (ب)

٣٦٢ (أ)

$$\dots\dots\dots = \frac{7}{\sqrt{2}} \quad (٩)$$

٦ (د)

٦٦٦ (ج)

١ (ب)

٦٦ (أ)